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ABSOLUTE VALUE EQUATIONS

MATCHING GAME

The goal of the puzzle is to make correct pairs of questions and answers with a minimal
amount of incorrect attempts.

Warning: The interactivity in this PDF file is enabled by
Javascript. For full funcitonality you have to use the Javascript
capable PDF browser. Currently only Adobe Reader is
available.



SCORE

Truth is ever to be found in simplicity, and not in the multiplicity and confusion of things.
Isaac Newton, one of the most influencing scientist ever, author of integral calculus.

Match each of the given equations with the set containing all its roots.
Equations:

1 |x − 5| − 1 = 0|x| − |x − 5| = 1|4x − 8| = 2x2 + |x + 1| − 1 = 0|x − 3| = |2x − 1||2− x|+ | − x| = 7

2 |x − 5| − 1 = 0|x| − |x − 5| = 1|4x − 8| = 2x2 + |x + 1| − 1 = 0|x − 3| = |2x − 1||2− x|+ | − x| = 7

3 |x − 5| − 1 = 0|x| − |x − 5| = 1|4x − 8| = 2x2 + |x + 1| − 1 = 0|x − 3| = |2x − 1||2− x|+ | − x| = 7

4 |x − 5| − 1 = 0|x| − |x − 5| = 1|4x − 8| = 2x2 + |x + 1| − 1 = 0|x − 3| = |2x − 1||2− x|+ | − x| = 7

5 |x − 5| − 1 = 0|x| − |x − 5| = 1|4x − 8| = 2x2 + |x + 1| − 1 = 0|x − 3| = |2x − 1||2− x|+ | − x| = 7

6 |x − 5| − 1 = 0|x| − |x − 5| = 1|4x − 8| = 2x2 + |x + 1| − 1 = 0|x − 3| = |2x − 1||2− x|+ | − x| = 7

Sets:

A [4; 8)[3; 4)[1; 3)[−1; 1)(−3;−1] ∪ [1; 2](−∞;−2) ∪ (4;∞)

B [4; 8)[3; 4)[1; 3)[−1; 1)(−3;−1] ∪ [1; 2](−∞;−2) ∪ (4;∞)

C [4; 8)[3; 4)[1; 3)[−1; 1)(−3;−1] ∪ [1; 2](−∞;−2) ∪ (4;∞)

D [4; 8)[3; 4)[1; 3)[−1; 1)(−3;−1] ∪ [1; 2](−∞;−2) ∪ (4;∞)

E [4; 8)[3; 4)[1; 3)[−1; 1)(−3;−1] ∪ [1; 2](−∞;−2) ∪ (4;∞)

F [4; 8)[3; 4)[1; 3)[−1; 1)(−3;−1] ∪ [1; 2](−∞;−2) ∪ (4;∞)



Perfect, keep it up!Wait! Sheldon might get jealous!You are the champion!Wow, what a wonderful job! Just be
careful about an alcohol party before an

exam. You could damage your brain
cells.

Great, you are very good at this!You made some mistakes,
but you still deserve praise.

Almost there.
I’m sure you’ll even do better next time.

You are so close!
You just made a misclick.

A little harder and you would kill it. Try
it again.

Good work, have a biscuit.Hang in there, there is space for
improvement.

Everyone can make a mistake. What’s
important is to learn from it and don’t

give up.

Not great, not terrible.
You are somewhere in the middle.

You understand this a bit,
but you still need to practice.

To be average, or not to be average?
That is the question.

That didn’t end up very well.
You should study more.

Pity, you might need to practice more.It wasn’t Enigma,
so where is the problem?

You may not be a future Fields Medal
laureate, but you can do better on this

test.

Are you keeping your energy for later?We should blame the weather!This is like a foreign movie to you;
you still need subtitles.

The stars weren’t aligned in your favour
today.

There was a time
Einstein couldn’t count to 10 either.
Do you know that you have to click

on the right answer?




